Exercises for lecture 8 @

1 Again, we consider the Lagrangian:
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Calculate the integrals for the loops below in Dim. Reg.” (no need to integrate the Feynman parameters
everywhere - although it can be useful to do it in the divergent pieces, where it is easy)
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* vs matrices can be tricky as far as Dim. Reg. in concerned. For now use the “Naive Dimensional

Regularization” (NDR) scheme, which means the usual relations for ys:
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we will come back to this point when we deal with anomalies (if you are really curious, check out Peskin page

662 - he explains the HV (‘t Hooft and Veltman) scheme there)



